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Question No.1 Marks: 1.00
Bookmark 

Fill in the blanks with suitable Article from the given alternatives.

Saudi Arabia is ______________ world's top oil exporter and has been the supplier of last
resort for decades.
(A) No article
(B) a
(C) the (Correct Answer) (Chosen option)
(D) an

Question No.2 Marks: 1.00
Bookmark 

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

The lady clerk will works on the guidance course and update his manager on her
progress every week.
(A) will works on the guidance course and update her
(B) will work in the guidance course and update his
(C) will work on the guidance course and update her (Correct Answer) (Chosen

option)
(D) The given sentence is correct

Question No.3 Marks: 1.00
Bookmark 

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Rule out.
(A) To exclude out something (Correct Answer) (Chosen option)
(B) To do something immediately
(C) Someone who lacks intelligence
(D) No manners

Case Study - 4 to 8 5.00
Directions: Read the passage carefully and answer the questions that follow.

German Miners at the Prosper-Haniel mine presented a chunk of black coal to their country's
President Frank-Walter Steinmeier at a ceremony to announce the closure of the country’s last
black coal mine. This, however, doesn’t mean that Germany will be completely off coal: the
country will continue to import cheaper, foreign coal, which means mining operations such as
drilling, blasting, hauling, collection, and transportation will pollute the countries that export coal



to the economic powerhouse, but the pollution burden on the European nation will be much lower.
Moreover, while Germany has closed down deep-shaft mining, it is yet to close down lignite, or
brown coal, mines. Lignite is considered even dirtier than black coal but remains cheap to extract.
Germany’s decision to close down the last coal mine is to meet its decarbonisation goals. While
these developments are positive news ----- phasing out coal is considered crucial to limiting global
warming to within 1.5 degree C. The world’s coal addiction is not going to go away soon because
many parts of the world such as India and China still need the cheap fuel to power their economic
growth. 

Question No.4 Marks: 1.00
Bookmark 

Which of the following is not a mining process?
(A) Welding (Correct Answer) (Chosen option)
(B) Drilling
(C) Blasting
(D) Hauling

Question No.5 Marks: 1.00
Bookmark 

Why did Germany decide to close its last coal mine?
(A) The coal mine is off coal
(B) To meet its decarbonisation goals (Correct Answer) (Chosen option)
(C) German don’t require coal anymore
(D) To import coal from foreign countries

Question No.6 Marks: 1.00
Bookmark 

According to the passage, what does the word 'off' mean?
(A) Spoilt
(B) Unavailable (Correct Answer) (Chosen option)
(C) Far
(D) Foul

Question No.7 Marks: 1.00
Bookmark 

Read the following statements and select the option as per the passage given above.

Statement 1: Brown coal is cheap to extract.
Statement 2: Mining operations cause pollution in the country that imports coal. 
(A) Statement 1 is true and statement 2 is false (Correct Answer)
(B) Statement 1 is false and statement 2 is true (Chosen option)
(C) Both the statements are true
(D) Both the statements are false

Question No.8 Marks: 1.00
Bookmark 

Why did the German miners presented a chunk of black coal to their President?
(A) To explain their poverty
(B) The president asked for it
(C) It was the last piece present in the coal mine
(D) To publish the shutdown of the country's last black coal mine (Correct Answer)

(Chosen option)



Question No.9 Marks: 1.00
Bookmark     

Find the correct passive voice for the given sentence in active voice from the given
alternatives.

Mary opened the window.
(A) The window was being opened by Mary. 
(B) The window is opened by Mary. 
(C) The window was opened by Mary. (Correct Answer) (Chosen option) 
(D) The window has been opened by Mary. 

Case Study - 10 to 14 5.00
Directions: Read the passage carefully and answer the questions that follow.

Finland’s education system boasts of giving hardly any homework to its kids. In fact most kids
believe that they can complete their homework in less than half an hour. The teachers and the
principals support this lack of homework as they believe that students have other things to do
which are equally important. Sports, socialising, being with family and even exploring their
backyard are considered to be very important in a student’s life.

Finnish students spend the least amount of time in school than students from other parts of the
world. On average Finnish students only spend three hours and forty five minutes in school which
includes lunch time. This is again supported by the fact that students have a life outside school. It
is stated by Finnish teachers that students have to learn and not study and hence socialisation,
sports, exploration etc. are part of learning. 

Question No.10 Marks: 1.00
Bookmark     

Read the following statements and select the option as per the passage given above.

Statement 1: Finnish education system denies the fact that the students have a life
outside school.
Statement 2: Finland's education policy is that the students have to study rather than to
learn.
(A) Statement 1 is true and statement 2 is false 
(B) Statement 1 is false and statement 2 is true 
(C) Both the statements are true (Correct Answer)
(D) Both the statements are false (Chosen option) 

Question No.11 Marks: 1.00
Bookmark     

What is the tone of the author?
(A) Laudatory (Correct Answer) (Chosen option) 
(B) Emotional 
(C) Sarcastic 
(D) Humorous 

Question No.12 Marks: 1.00
Bookmark     

Why did Finland education system hardly give any homework to its students?
(A) They believe that kids have other equally important things to do (Correct

Answer) (Chosen option) 
(B) Children don't have live outside school 
(C) The kids will be tired 
(D) They must do the household chores 



Question No.13 Marks: 1.00
Bookmark     

What do the teachers and the Principal in Finland consider to be very important in
students life?
(A) Homework 
(B) Socialising 
(C) Household chores 
(D) All of these (Correct Answer) (Chosen option) 

Question No.14 Marks: 1.00
Bookmark     

According to the passage, what does the word 'socialisation' mean?
(A) Hatred 
(B) Social Distancing 
(C) Integration (Correct Answer) (Chosen option) 
(D) Animosity 

Question No.15 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

Actor Chadwick Boseman passed away in Friday after a long battle with colon cancer.
(A) passed away on Friday after a long battle with (Correct Answer) (Chosen

option) 
(B) passed away on Friday after a long battle on 
(C) passed away in Friday after a long battle on 
(D) The given sentence is correct 

Question No.16 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

that which cannot be seen through
(A) Transparent 
(B) Unique 
(C) Cyclic 
(D) Opaque (Correct Answer) (Chosen option) 

Question No.17 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

"Please don't go away", Siraj said.
(A) Siraj begs them not to go away. 
(B) Siraj begged me do not go away. 
(C) Siraj begs me not to go away. 
(D) Siraj begged me not to go away. (Correct Answer) (Chosen option) 



Question No.18 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.
(A) Denomnation 
(B) Eloquant 
(C) Incorigible 
(D) Notorious (Correct Answer) (Chosen option) 

Question No.19 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Jerome said to me, “I am going to Mumbai.”
(A) Jerome told me that he is going to Mumbai. 
(B) Jerome told me that he was going to Mumbai. (Correct Answer) (Chosen

option) 
(C) Jerome told me he is going to Mumbai. 
(D) Jerome told me he was going to Mumbai. 

Question No.20 Marks: 1.00
Bookmark     

Find the correct passive voice for the given sentence in active voice from the given
alternatives.

He will be writing a test tomorrow.
(A) A test will be written by him tomorrow. 
(B) A test would be being written by him tomorrow. 
(C) A test will have been written by him tomorrow. (Chosen option) 
(D) A test will be being written by him tomorrow. (Correct Answer)

Question No.21 Marks: 1.00
Bookmark     

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Against the grain.
(A) When you complain about a loss from the past 
(B) To present a counter argument (Chosen option) 
(C) A difficult path to be followed (Correct Answer)
(D) To succeed 

Question No.22 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Sanjay said that he was sick and tired of working for that client.
(A) Sanjay said, "I am sick and tired of working for this client." (Correct Answer)

(Chosen option) 
(B) Sanjay said, "I have sick and tired of working for this client." 
(C) Sanjay said, "I was sick and tired of working for this client." 
(D) Sanjay ordered, "I am sick and tired of working for this client." 



Question No.23 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

Small distractions also become a issue when it comes to children with special needs.
(A) also become an issue when it comes to (Correct Answer) (Chosen option) 
(B) also becomes an issue when it comes to 
(C) also became a issue when it comes to 
(D) The given sentence is correct 

Question No.24 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

He said to her, "Why don't you go today?"
(A) He asked her why she did not go that day. (Correct Answer) (Chosen option) 
(B) He told her why she does not go that day. 
(C) He asked her why she does not go that day. 
(D) He told her why she did not go that day. 

Question No.25 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options. 
(A) Ambigous 
(B) Fastidiuous 
(C) Exculpatory (Correct Answer) (Chosen option) 
(D) Hypotheticaly 

Question No.26 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options. 
(A) Heavanly 
(B) Percentyle 
(C) Spiritual (Correct Answer) (Chosen option) 
(D) Rhetaric 

Question No.27 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

They are living _______________ the temple.
(A) with 
(B) before 
(C) over 
(D) behind (Correct Answer) (Chosen option) 

Question No.28 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which



part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) Cerebral aneurysm is a serious health condition / (B) that can turn fatal if not / (C)
diagnose properly and in time. / (D) No Error
(A) B (Chosen option) 
(B) D 
(C) A 
(D) C (Correct Answer)

Question No.29 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

The pen is __________ the paper.
(A) besides 
(B) for 
(C) beneath (Correct Answer) (Chosen option) 
(D) through 

Question No.30 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options. 
(A) Satisfactarily 
(B) Reappearence 
(C) Philosophy (Correct Answer) (Chosen option) 
(D) Circumferance 

Question No.31 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.

A _____________ in production leads to heavy losses.
(A) easy 
(B) tail 
(C) better 
(D) halt (Correct Answer) (Chosen option) 

Question No.32 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) For many Indians and Pakistanis, particularly / (B) in rural areas, the intolerable heat
will / (C) slash the valuable hours available to work outdoors. / (D) No Error
(A) D (Correct Answer)
(B) B 
(C) A 
(D) C 

Question No.33 Marks: 1.00
Bookmark     



Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A person who looks at the darker side of things
(A) Amnesia 
(B) Pessimist (Correct Answer) (Chosen option) 
(C) Optimist 
(D) Somnambulist 

Question No.34 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.

Was she __________ her marriage anniversary last week?
(A) celebrates 
(B) will celebrating 
(C) celebrate 
(D) celebrating (Correct Answer) (Chosen option) 

Question No.35 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.

Many people fought to ____________ slavery during the Civil War.
(A) read 
(B) hear 
(C) dream 
(D) abolish (Correct Answer) (Chosen option) 

Question No.36 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

The rumors spread _____________ the country.
(A) along 
(B) between 
(C) across (Correct Answer) (Chosen option) 
(D) below 

Question No.37 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.

Jegan __________ up early in the morning daily.
(A) have wake 
(B) wakes (Correct Answer) (Chosen option) 
(C) wake 
(D) woke 

Question No.38 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



Accidental good fortune
(A) Shell 
(B) Fluke (Correct Answer)
(C) Accomplice (Chosen option) 
(D) Brood 

Question No.39 Marks: 1.00
Bookmark     

Find the correct passive voice for the given sentence in active voice from the given
alternatives.

Raj collects money.
(A) Money has been collected by Raj. 
(B) Money is being collected by Raj. 
(C) Money is collected by Raj. (Correct Answer) (Chosen option) 
(D) Money is been collected by Raj. 

Question No.40 Marks: 1.00
Bookmark     

Find the correct passive voice for the given sentence in active voice from the given
alternatives.

He is doing his project work.
(A) His project work is being done by him. (Correct Answer) (Chosen option) 
(B) His project work was being done by him. 
(C) His project work is been done by him. 
(D) His project work is being did by him. 

Question No.41 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Rojer said to him, “You have completed your project".
(A) Rojer told him that he completed his project. 
(B) Rojer told him that he has completed his project. 
(C) Rojer told he had completed his project. 
(D) Rojer told him that he had completed his project. (Correct Answer) (Chosen

option) 

Question No.42 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.

Scotland is a country which is _____________ for its hospitality.
(A) dialysed (Chosen option) 
(B) conjured 
(C) renowned (Correct Answer)
(D) confused 

Question No.43 Marks: 1.00
Bookmark     



Find the word which is correctly spelt from the given options.
(A) Observant (Correct Answer) (Chosen option) 
(B) Asimilate 
(C) Gradiant 
(D) Mithical 

Question No.44 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Article from the given alternatives.

He is one of _________ important batsmen in his team.
(A) the (Correct Answer) (Chosen option) 
(B) No article 
(C) a 
(D) an 

Question No.45 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

The special drive are launched to identify the dropouts and get them back to the school
in the state.
(A) is launch to identify the dropouts and get 
(B) are launched for identify the dropouts and get 
(C) is launched to identify the dropouts and get (Correct Answer)
(D) The given sentence is correct (Chosen option) 

Question No.46 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

He said that his sister was getting married.
(A) He said, "My sister was getting married." (Chosen option) 
(B) He said to me, "My sister is getting married." 
(C) He asked, "My sister is getting married." 
(D) He said, "My sister is getting married." (Correct Answer)

Question No.47 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A list of explanations of rare, technical or obsolete words
(A) Antonym 
(B) Acronym (Chosen option) 
(C) Glossary (Correct Answer)
(D) Synonym 

Question No.48 Marks: 1.00
Bookmark     



Fill in the blank with suitable word from the given options.

Reshma joined the _____________ service after graduation.
(A) nervous 
(B) diplomatic (Correct Answer)
(C) lazy 
(D) obedient (Chosen option) 

Question No.49 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Article from the given alternatives.

Zero-budget farming is ________ form of natural farming which is neither chemical-
loaded nor organic.
(A) No article 
(B) the 
(C) an 
(D) a (Correct Answer) (Chosen option) 

Question No.50 Marks: 1.00
Bookmark     

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

A hot potato.
(A) Be happy when a person leaves 
(B) A good idea or plan 
(C) Instantly 
(D) Something that is hard or terrible to handle (Correct Answer) (Chosen option) 

Question No.51 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word " REPLETE
".
(A) Empty 
(B) Unfilled 
(C) Charged (Correct Answer) (Chosen option) 
(D) Enlarge 

Question No.52 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Sudha said to us, “You will get your payment from your institution tomorrow.”
(A) Sudha told us that we will get our payment from our institution the next day. 
(B) Sudha told us that we would get our payment from our institution tomorrow. 
(C) Sudha told me that we would get our payment from our institution tomorrow. 
(D) Sudha told us that we would get our payment from our institution the next day.

(Correct Answer) (Chosen option) 

Question No.53 Marks: 1.00
Bookmark     



Fill in the blanks with suitable Article from the given alternatives.

The January of ______ 2019 was hot and dry.
(A) the 
(B) an 
(C) a 
(D) No Article (Correct Answer) (Chosen option) 

Question No.54 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) The fear of public speaking is a / (B) common phobia. It might range / (C) from mild
jitters to crippling fear and panic. / (D) No Error
(A) B 
(B) C (Chosen option) 
(C) D (Correct Answer)
(D) A 

Question No.55 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A book written by an unknown
(A) Beneficiary 
(B) Anonymous (Correct Answer)
(C) Orator 
(D) Extempore (Chosen option) 

Question No.56 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

Portugal extended its unbeaten record to 10 matches __________ losing to Uruguay at the
last World Cup.
(A) under 
(B) since (Correct Answer) (Chosen option) 
(C) for 
(D) about 

Question No.57 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

Susan and I agree ____________ the book.
(A) near 
(B) about (Correct Answer) (Chosen option) 
(C) beneath 
(D) under 



Question No.58 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
SKEPTICAL ".
(A) Certain (Correct Answer)
(B) Mistrustful 
(C) Agnostic 
(D) Doubtful (Chosen option) 

Question No.59 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word " DISDAIN
".
(A) Admiration 
(B) Hate (Correct Answer) (Chosen option) 
(C) Approval 
(D) Sympathy 

Question No.60 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word " TRIVIAL
".
(A) Large 
(B) Small (Correct Answer) (Chosen option) 
(C) Avoid 
(D) Important 

Question No.61 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
PLAUSIBLE ".
(A) Probable 
(B) Logical (Chosen option) 
(C) Impossible (Correct Answer)
(D) Creditable 

Question No.62 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

He was born ______________ 1990.
(A) at 
(B) for 
(C) on 
(D) in (Correct Answer) (Chosen option) 

Question No.63 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who journeys from place to place
(A) Teetotaller 



(B) Itinerant (Correct Answer) (Chosen option) 
(C) Amphibian 
(D) Polygamy 

Question No.64 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
TURMOIL ".
(A) Disorder 
(B) Calm (Correct Answer) (Chosen option) 
(C) Bustle 
(D) Disturbance 

Question No.65 Marks: 1.00
Bookmark     

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Beat around the bush.
(A) Being in good health 
(B) To make a bad situation even worse 
(C) Not speaking directly or precisely (Correct Answer) (Chosen option) 
(D) Not judging something by its initial appearance 

Question No.66 Marks: 1.00
Bookmark     

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Sticky fingers.
(A) Something common 
(B) Don't be so critical 
(C) Keep objects that don't belong to you (Correct Answer) (Chosen option) 
(D) Stop working on something 

Question No.67 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Where do they live?
(A) You asked me where they live. 
(B) You ordered me where they lived. 
(C) You asked me about where they lived. (Chosen option) 
(D) You asked me where they lived. (Correct Answer)

Question No.68 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options. 
(A) Continous 
(B) Buraucratic 
(C) Pilgrimage (Correct Answer) (Chosen option) 



(D) Sophistary 

Question No.69 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word " FOE
".
(A) Enemy (Chosen option) 
(B) Adversary 
(C) Rival 
(D) Assistant (Correct Answer)

Question No.70 Marks: 1.00
Bookmark     

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Hang in there.
(A) Don't give up (Correct Answer)
(B) Start over 
(C) It's not complicated 
(D) Go to sleep (Chosen option) 

Question No.71 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

Coconut oil exporters are facing difficulties in importing copra following higher prices,
container shortage, rise in shipment rates.
(A) is facing difficulties in importing copra following 
(B) are facing difficulties in importing copra follow (Chosen option) 
(C) is facing difficulties in importing copra follow 
(D) The given sentence is correct (Correct Answer)

Question No.72 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.

They have to showcase an ______________ of family togetherness.
(A) detection 
(B) situation 
(C) illusion (Correct Answer) (Chosen option) 
(D) isolation 

Question No.73 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

Copra prices have surged to a record ₹140 a kg following lower arrivals of raw coconuts
despite the harvest season having begun in Kerala.
(A) has surged to a record ₹140 a kg (Chosen option) 



(B) have surge to a record ₹140 a kg 
(C) have surge to an record ₹140 a kg 
(D) The given sentence is correct (Correct Answer)

Question No.74 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Article from the given alternatives.

Maria Sharapova is __________ Russian professional tennis player.
(A) the (Chosen option) 
(B) a (Correct Answer)
(C) an 
(D) No article 

Question No.75 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

The online platforms requires a complex set of sequential steps.
(A) require a complex set of (Correct Answer) (Chosen option) 
(B) has required a complex set of 
(C) require an complex set of 
(D) The given sentence is correct 

Question No.76 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Article from the given alternatives.

He arrived in ___________ India yesterday.
(A) the 
(B) a 
(C) No article (Correct Answer) (Chosen option) 
(D) an 

Question No.77 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options. 

He said, "I can drive a bike".
(A) He said he could drive a bike. 
(B) He said that he will drive a bike. 
(C) He said that he could drive bike. 
(D) He said that he could drive a bike. (Correct Answer) (Chosen option) 

Question No.78 Marks: 1.00
Bookmark     

Find the correct passive voice for the given sentence in active voice from the given
alternatives.

The cow ate a lot.



(A) A lot was being eaten by the cow. 
(B) A lot was ate by the cow. 
(C) A lot was been eaten by the cow. 
(D) A lot was eaten by the cow. (Correct Answer) (Chosen option) 

Question No.79 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) Positive body language convey / (B) confidence and security / (C) in a group
discussion. / (D) No Error
(A) D 
(B) A (Correct Answer) (Chosen option) 
(C) C 
(D) B 

Question No.80 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.

He __________________ to learn German for one year.
(A) try 
(B) trying 
(C) has been trying (Correct Answer) (Chosen option) 
(D) has trying 

Question No.81 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word " DILATE ".
(A) Diminish (Chosen option) 
(B) Curtail 
(C) Condense 
(D) Enlarge (Correct Answer)

Question No.82 Marks: 1.00
Bookmark     

Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.

Kirthi did not make a meal.
(A) A meal was not made by Kirthi (Correct Answer) (Chosen option) 
(B) A meal do not made by Kirthi 
(C) A meal does not made by Kirthi 
(D) A meal was not being made by Kirthi 

Question No.83 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.

She was _____________ about herself but said plenty about her husband.
(A) miniature (Chosen option) 



(B) fat 
(C) shallow 
(D) mysterious (Correct Answer)

Question No.84 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.

The professor ____________ the use of the language to the class.
(A) has explained (Correct Answer)
(B) explain (Chosen option) 
(C) had explain 
(D) will be explain 

Question No.85 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word " ERUDITE
".
(A) Ignorant 
(B) Common 
(C) Studious (Correct Answer) (Chosen option) 
(D) Support 

Question No.86 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options. 
(A) Encaptulate (Chosen option) 
(B) Beautifully (Correct Answer)
(C) Detorioration 
(D) Contagiuous 

Question No.87 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) The Supreme Court over Friday / (B) refused to / (C) postpone NEET-PG 2022. / (D)
No Error
(A) D 
(B) B 
(C) A (Correct Answer) (Chosen option) 
(D) C 

Question No.88 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

They walked ___________ the bridge.
(A) across (Correct Answer) (Chosen option) 
(B) since 
(C) for 



(D) about 

Question No.89 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.

My cousin's mother ____________ a bike for him.
(A) buy 
(B) will bought 
(C) will buying 
(D) will buy (Correct Answer) (Chosen option) 

Question No.90 Marks: 1.00
Bookmark     

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

“Many happy returns of your birthday", they said
(A) They wished him many happy returns of your birthday. 
(B) They wished him many happy returns of his birthday. (Correct Answer)

(Chosen option) 
(C) They wished him many happy returns of their birthday. 
(D) They wish him many happy returns of his birthday. 

Question No.91 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.

Tomorrow we ___________ for Spain.
(A) leaves 
(B) will leaving 
(C) have leave 
(D) are leaving (Correct Answer) (Chosen option) 

Question No.92 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
TRANSCEND ".
(A) Surrender (Correct Answer) (Chosen option) 
(B) Excel 
(C) Overstep 
(D) Best 

Case Study - 93 to 97 5.00
Directions: Read the passage carefully and answer the questions that follow.

China evolved a national working strategy to fight pollution. Under this, they placed a number of
restrictions on the use of coal. Thermal power stations were shut down and people were not
allowed to burn coal even for household consumption. Also, apart from creating norms for
vehicular emissions, a number of precautionary measures that could keep air pollution in check
were put in place. For the record, 1,37,000 people in China lost their lives because of PM 2.5
vehicular emissions just this year.

While it is true that Beijing’s air quality has improved, the government is far from achieving its



targets. The Chinese government has acknowledged that pollution has not reduced to the extent
that it was targeting in as many as 231 out of 338 Chinese cities. To overcome this, another three-
year working strategy has been prepared. 

Question No.93 Marks: 1.00
Bookmark     

How many cities did Chinese government target to reduce pollution?
(A) More than 231 
(B) 231 (Correct Answer) (Chosen option) 
(C) More than 338 
(D) 338 

Question No.94 Marks: 1.00
Bookmark     

What are the strategies devised by China to fight Pollution?
(A) Shutting down thermal stations 
(B) Restrictions in burning coals 
(C) Controlling vehicular transmissions 
(D) All of these (Correct Answer) (Chosen option) 

Question No.95 Marks: 1.00
Bookmark     

According to the passage, what does the word 'check' mean?
(A) Ignore 
(B) Control (Correct Answer) (Chosen option) 
(C) Neglect 
(D) Disregard 

Question No.96 Marks: 1.00
Bookmark     

Why did 1,37,000 people in China lost their lives?
(A) Burning Coal 
(B) Vehicular emission (Correct Answer) (Chosen option) 
(C) Thermal power stations 
(D) Both 1 and 2 

Question No.97 Marks: 1.00
Bookmark     

Read the following statements and select the option as per the passage given above.

Statement 1: The pollution has reduced considerably to an extent targeted by the
Chinese government.
Statement 2: Thermal Power stations were shut down in China to fight pollution.

(A) Statement 1 is true and statement 2 is false 
(B) Statement 1 is false and statement 2 is true (Correct Answer) (Chosen option) 
(C) Both the statements are true 
(D) Both the statements are false 

Question No.98 Marks: 1.00
Bookmark     

From the given alternatives, choose the one that best expresses the meaning of the



given idiom/phrase.

Hit the sack.
(A) Feeling slightly ill 
(B) To present a counter argument (Chosen option) 
(C) To go to bed (Correct Answer)
(D) All the advantages 

Question No.99 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

That which lasts forever
(A) Eternal (Correct Answer) (Chosen option) 
(B) Fugitive 
(C) Cannibal 
(D) Internal 

Question No.100 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) Tomato flu is a unidentified fever / (B) that has been detected / (C) in several parts of
Kerala. / (D) No Error
(A) A (Correct Answer) (Chosen option) 
(B) C 
(C) B 
(D) D 

General Knowledge - General Knowledge

Question No.1 Marks: 1.00
Bookmark     

The Large Hadron Collider (LHC) is the world's largest and most powerful particle
accelerator, often seen in the news, located in __________.
(A) Switzerland (Correct Answer)
(B) The United States of America 
(C) Japan 
(D) Russia 

Question No.2 Marks: 1.00
Bookmark     

In this question, a passage is given followed by a statement. Read the passage
carefully and judge the statement based on the given passage.

This will probably make you want to visit Luxembourg on your next family vacation: The
tiny EU country is seeking to make travel free on its trains, trams and buses as part of
efforts to reduce traffic congestion and air pollution. The re-elected coalition
government of liberal Prime Minister Xavier Bettel said “free public transport will be
introduced in the Grand Duchy of Luxembourg’s territory” from early 2020. Georges
Merenz, who heads the FNCTTFEL-Landesverband, Luxembourg’s main transport union,
expressed concerns that the government plan would lead to job losses if nobody was
needed to sell tickets. “As long as it is not cleared up, we cannot accept that,” Merenz



told AFP. He added he was also concerned people in rural areas would not benefit from
free travel.

Statement: Luxembourg wants to make travel free to benefit people from rural areas.

Choose the appropriate one from the following options
A -The statement is definitely true
B -The statement is probably true
C -The statement is cannot be determined
D -The statement is definitely false
(A) C 
(B) D (Correct Answer)
(C) A 
(D) B 

Question No.3 Marks: 1.00
Bookmark     

The first Indian Institute of Technology (IIT) outside of India is to come up in which of
the following Countries?
(A) Bhutan 
(B) Nepal 
(C) United Arab Emirates (Correct Answer)
(D) Saudi Arabia 

Question No.4 Marks: 1.00
Bookmark     

When did the '74th Constitutional Amendment' come into force?
(A) 1st March 1995 
(B) 1st September 1998 
(C) 1st June 1994 
(D) 1st June 1993 (Correct Answer) (Chosen option) 

Question No.5 Marks: 1.00
Bookmark     

With which bank was the Bharatiya Mahila Bank merged in 2017?
(A) Canara Bank 
(B) State Bank of India (Correct Answer) (Chosen option) 
(C) Punjab National Bank 
(D) Bank of India 

Question No.6 Marks: 1.00
Bookmark     

Which of the following options is fifth to the right of the eighteenth letter from the right
end in a forward alphabet series?
(A) N (Correct Answer) (Chosen option) 
(B) L 
(C) M 
(D) O 

Question No.7 Marks: 1.00
Bookmark     

Which constitutional amendment Act reduced the voting age from 21 to 18 for Lok
Sabha and Assembly elections?



(A) 41st Constitutional Amendment 
(B) 71st Constitutional Amendment 
(C) 51st Constitutional Amendment 
(D) 61st Constitutional Amendment (Correct Answer) (Chosen option) 

Question No.8 Marks: 1.00
Bookmark     

Which of the following numbers in the Venn Diagram represents only beautiful fresh
flower?

(A) 10 (Correct Answer) (Chosen option) 
(B) 5 
(C) 9 
(D) 7 

Question No.9 Marks: 1.00
Bookmark     

Who among the following propounded the concept of 'Rule of Law'?
(A) A.V. Dicey (Correct Answer) (Chosen option) 
(B) Max Weber 
(C) F.W. Taylor 
(D) Henri Fayol 

Question No.10 Marks: 1.00
Bookmark     

What is the normal "term of Office" of Gram Panchayat?
(A) 3 years 
(B) 4 years 
(C) 1 year 
(D) 5 years (Correct Answer) (Chosen option) 

Question No.11 Marks: 1.00
Bookmark     

Which one of the following alternatives will perfectly complete the given figure?

(A)



 

(B)

 

(C)

 

(D)

 (Correct Answer) (Chosen option) 

Question No.12 Marks: 1.00
Bookmark     

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
(A) Give 
(B) Grant 
(C) Offer 
(D) Receive (Correct Answer) (Chosen option) 

Question No.13 Marks: 1.00
Bookmark     

In January 2022, which bank has listed its $300 million Formosa bonds on India
International Exchange IFSC (India INX)?
(A) ICICI Bank 
(B) HDFC Bank 
(C) Indian Bank 
(D) State Bank of India (Correct Answer)

Question No.14 Marks: 1.00
Bookmark     

Who is the author of the Book "Poverty and Un-British Rule in India"?
(A) Dadabhai Naoroji (Correct Answer) (Chosen option) 
(B) Jawaharlal Nehru 
(C) Romila Thapar 
(D) S.C.Ghosh 

Question No.15 Marks: 1.00
Bookmark     



Replace the question mark with an option that follows the same logic applied in the first
pair.
Bear : Cub :: Cat : ??
(A) Kitten (Correct Answer)
(B) Calf 
(C) Lamb 
(D) Puppy (Chosen option) 

Question No.16 Marks: 1.00
Bookmark     

Where is the headquarters of the Southern Railway zone located?
(A) Trivandrum 
(B) Chennai (Correct Answer)
(C) Hyderabad 
(D) Bengaluru 

Question No.17 Marks: 1.00
Bookmark     

Which of the following regions is known as Khapa-chan (the land of snow)?
(A) Gangtok 
(B) Ladakh (Correct Answer)
(C) Shimla 
(D) Dehradun 

Question No.18 Marks: 1.00
Bookmark     

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
(A) Bottle 
(B) Bag 
(C) Tiger (Correct Answer) (Chosen option) 
(D) Purse 

Question No.19 Marks: 1.00
Bookmark     

_____________ refers to the budgetary policy of the government, which involves the
government controlling its level of spending and tax rates within the economy. 
(A) Fiscal Policy (Correct Answer) (Chosen option) 
(B) Exim Policy 
(C) Balance of Payments 
(D) Monetary Policy 

Question No.20 Marks: 1.00
Bookmark     

How many such 6s are there in the following number sequence each of which is
immediately preceded by 2 or 7 but not immediately followed by 5 or 4?
7 6 4 6 2 6 6 2 6 5 2 6 9 1 7 6 8 6 6 2 6 7 6 1 0
(A) four (Chosen option) 
(B) three 
(C) six 
(D) five (Correct Answer)



Question No.21 Marks: 1.00
Bookmark     

What is the importance of Article 15 of the Universal Declaration of Human Rights?
(A) It is against Exploitation 
(B) It is against untouchability 
(C) It gives right to nationality (Correct Answer)
(D) It is against slavery (Chosen option) 

Question No.22 Marks: 1.00
Bookmark     

Which among the following is an economic activity that is part of the 'Primary Sector'?
(A) Construction of Buildings 
(B) Tyre Manufacturing 
(C) Cultivation of Rice (Correct Answer) (Chosen option) 
(D) Nylon Production 

Question No.23 Marks: 1.00
Bookmark     

Who coined the term 'Genocide'?
(A) Roosevelt 
(B) Bernard Shaw (Chosen option) 
(C) Lialenin 
(D) Raphael Lemkin (Correct Answer)

Question No.24 Marks: 1.00
Bookmark     

A box containing the denominations of one rupee coins, two rupee coins and ten rupee
coins amount to Rs.1560. There are equal number of coins in all denominations. What is
the total number of coins in the box?
(A) 340 
(B) 120 
(C) 150 
(D) 360 (Correct Answer) (Chosen option) 

Question No.25 Marks: 1.00
Bookmark     

James Webb Space Telescope, recently seen in news, is an international collaboration
among NASA, European Space Agency and ___________.
(A) Indian Space Research Organisation (Chosen option) 
(B) Canadian Space Agency (Correct Answer)
(C) Russian Federal Space Agency 
(D) Japan Aerospace Exploration Agency 

Question No.26 Marks: 1.00
Bookmark     

Steel Authority of India Limited was incorporated in the year:
(A) 1973 (Correct Answer)
(B) 1975 
(C) 1965 
(D) 1963 (Chosen option) 



Question No.27 Marks: 1.00
Bookmark     

In this question, relationship between different elements is shown in the statement.
This statement is followed by two conclusions:

Statements: F < I ≤ G = H < T > E ≥ R > S
Conclusion:
i) F ≤ G
ii) T > R

Choose the appropriate one from the following options
(A) Only conclusion i follows
(B) Only conclusion ii follows
(C) Either i or ii follows
(D) Neither i nor ii follows
(E) Both i and ii follow
(A) C 
(B) B (Correct Answer) (Chosen option) 
(C) D 
(D) A 

Question No.28 Marks: 1.00
Bookmark     

Who among the following defeated Mughal Emperor Humayun in 1540 AD?
(A) Alauddin Khalji 
(B) Sher Shah Suri (Correct Answer) (Chosen option) 
(C) Nadir Shah 
(D) Ahmad Shah Abdali 

Question No.29 Marks: 1.00
Bookmark     

Read the information carefully and answer the following question.

A+B means A is the Brother of B
A-B means A is the Sister of B
A*B means A is the mother of B
A/B means A is the father of B

In the given expression P*Q+R-S, how is P related to S?
(A) Father 
(B) Daughter 
(C) Son 
(D) Mother (Correct Answer) (Chosen option) 

Question No.30 Marks: 1.00
Bookmark     

Which one of the following images numbered as (1), (2), (3), (4) will be the next image
for the given series?

(A) 1 



(B) 4 (Correct Answer) (Chosen option) 
(C) 3 
(D) 2 

Question No.31 Marks: 1.00
Bookmark     

Where was the Khilafat Committee formed in March 1919?
(A) Lucknow 
(B) Calcutta 
(C) Madras (Chosen option) 
(D) Bombay (Correct Answer)

Question No.32 Marks: 1.00
Bookmark     

When is the 'International Day of Disabled Persons' celebrated every year?
(A) 3rd December (Correct Answer)
(B) 15th January 
(C) 9th December 
(D) 29th September (Chosen option) 

Question No.33 Marks: 1.00
Bookmark     

In a certain code language:
'eat tasty food' is written as 'jo va nu',
'tasty indian dish' is written as 'ph ki nu',
'eat spicy dish' is written as 'ki va ru'.

What does the code 'ru' stand for?
(A) eat 
(B) spicy (Correct Answer) (Chosen option) 
(C) dish 
(D) tasty 

Question No.34 Marks: 1.00
Bookmark     

If right side is considered to be left-side and left side is considered to be the right side,
then A's position is 18th from the left end who is sitting to the immediate right of B. What
is the position of B from left? 
(A) 37 
(B) 27 
(C) 47 
(D) 17 (Correct Answer) (Chosen option) 

Question No.35 Marks: 1.00
Bookmark     

In which of the following media will sound travel at the fastest Speed?
(A) Liquids 
(B) Vacuum 
(C) Solids (Correct Answer) (Chosen option) 
(D) Gases 

Question No.36 Marks: 1.00



Bookmark     
The first World Deaf T20 cricket championship will be held in Thiruvananthapuram,
Kerala in the year:
(A) 2024 
(B) 2022 
(C) 2025 
(D) 2023 (Correct Answer)

Question No.37 Marks: 1.00
Bookmark     

If in the word CINDRELLA, all the consonants are replaced by the next letter in the
alphabet and all the vowels are replaced by the previous letter then all the letters are
arranged alphabetically, which will be the seventh letter from the right?
(A) E (Correct Answer) (Chosen option) 
(B) S 
(C) H 
(D) M 

Question No.38 Marks: 1.00
Bookmark     

In February 2022, Prime Minister Narendra Modi inaugurated Asia's biggest Bio-CNG
plant - the Gobar-Dhan plant in: 
(A) Gandhinagar (Chosen option) 
(B) Patna 
(C) Indore (Correct Answer)
(D) Meerut 

Question No.39 Marks: 1.00
Bookmark     

E is the son of A. B is the mother of E and daughter of C. How is E related to C?
(A) Son-in-law 
(B) Son 
(C) Grandson (Correct Answer) (Chosen option) 
(D) Brother 

Question No.40 Marks: 1.00
Bookmark     

Pointing to a woman, a man said, "She is the wife of my mother's only son's only son".
How is the man related to the woman?
(A) Mother-in-law 
(B) Father-in-law (Correct Answer) (Chosen option) 
(C) Son-in-law 
(D) Daughter-in-law 

Question No.41 Marks: 1.00
Bookmark     

In which year was Cheetah declared extinct in India?
(A) 1960 (Chosen option) 
(B) 1980 
(C) 1952 (Correct Answer)
(D) 1975 



Question No.42 Marks: 1.00
Bookmark     

Find the next number in the series.
572, 545, 506, 455, 392, ?
(A) 347 
(B) 327 
(C) 337 
(D) 317 (Correct Answer) (Chosen option) 

Question No.43 Marks: 1.00
Bookmark     

Which of the following options is exactly midway between F and P in a forward alphabet
series?
(A) K (Correct Answer) (Chosen option) 
(B) L 
(C) M 
(D) J 

Question No.44 Marks: 1.00
Bookmark     

Four of the following five are alike in a certain way and so form a group. Which is the one
that does not belong to that group?
Ears, Eyes, Nose, Lips, Toes
(A) Lips 
(B) Ears 
(C) Toes (Correct Answer) (Chosen option) 
(D) Nose 

Question No.45 Marks: 1.00
Bookmark     

A man is standing in a lawn facing North direction. If the man turns 45 degrees in
clockwise direction and 135 degrees in anti-clockwise direction, which direction will he
face now?
(A) East 
(B) West (Correct Answer) (Chosen option) 
(C) North 
(D) South 

Question No.46 Marks: 1.00
Bookmark     

If A = 14, B = 2, C = 7, D = 3, then A ÷ C + B × D = ?
(A) 6 
(B) 10 
(C) 4 
(D) 8 (Correct Answer) (Chosen option) 

Question No.47 Marks: 1.00
Bookmark     

Which Constitutional Amendment Act deleted the 'right to property' from the list of
Fundamental Rights? 
(A) 42nd Constitutional Amendment 
(B) 52nd Constitutional Amendment 



(C) 44th Constitutional Amendment (Correct Answer) (Chosen option) 
(D) 73rd Constitutional Amendment 

Question No.48 Marks: 1.00
Bookmark     

Where did Mahatma Gandhi organise a satyagraha Movement amongst cotton mill
workers in the year 1918?
(A) Ahmedabad (Correct Answer) (Chosen option) 
(B) Kheda 
(C) Bardoli 
(D) Champaran 

Question No.49 Marks: 1.00
Bookmark     

How many subjects were originally present in the Union list of Indian Constitution?
(A) 50 
(B) 100 
(C) 97 (Correct Answer) (Chosen option) 
(D) 25 

Question No.50 Marks: 1.00
Bookmark     

What is the chemical formula of Gold?
(A) C 
(B) Fe 
(C) Ag 
(D) Au (Correct Answer) (Chosen option) 

Question No.51 Marks: 1.00
Bookmark     

What is the name of India's first Human spaceflight programme?
(A) Aditya 
(B) MOM 
(C) Chandrayaan 
(D) Gaganyaan (Correct Answer) (Chosen option) 

Question No.52 Marks: 1.00
Bookmark     

Find the missing term in the series.
7, 10, 15, 22, ? , 42, 55
(A) 31 (Correct Answer) (Chosen option) 
(B) 32 
(C) 29 
(D) 30 

Question No.53 Marks: 1.00
Bookmark     

If 2 is subtracted from the middle digit of each of the following numbers and then the
position of the digits are reversed, which of the following will be the last digit of the
middle number?
687 465 774 381 452



(A) 4 
(B) 3 
(C) 7 (Correct Answer) (Chosen option) 
(D) 5 

Question No.54 Marks: 1.00
Bookmark     

Which of the following is the world's oldest human rights organisation?
(A) Physicians for Human Rights 
(B) Human Rights Foundation 
(C) Civil Rights Defenders 
(D) Anti-slavery International (Correct Answer) (Chosen option) 

Question No.55 Marks: 1.00
Bookmark     

India's first technology innovation hub on autonomous navigation(TiHAN) facility has
been recently launched in which of the following places?
(A) IISC, Bengaluru 
(B) IIT, Madras 
(C) IIT, Hyderabad (Correct Answer)
(D) IIT, Delhi 

Question No.56 Marks: 1.00
Bookmark     

The Raman Effect deals with which of the following properties of light?
(A) Polarisation of light 
(B) Interference of Light 
(C) Dispersion of Light 
(D) Scattering of Light (Correct Answer) (Chosen option) 

Question No.57 Marks: 1.00
Bookmark     

Four of the following five are alike in a certain way and so form a group. Which is the one
that does not belong to that group?
E, O, K, I, U
(A) K (Correct Answer) (Chosen option) 
(B) E 
(C) O 
(D) U 

Question No.58 Marks: 1.00
Bookmark     

Which of the following is included in the Tertiary sector of an economy?
(A) Fishing 
(B) Forestry 
(C) Mining 
(D) Tourism (Correct Answer) (Chosen option) 

Question No.59 Marks: 1.00
Bookmark     

Which of the following numbers in the Venn Diagram represents singers and dancers but



not musicians?

(A) 5 
(B) 4 (Correct Answer) (Chosen option) 
(C) 2 
(D) 3 

Question No.60 Marks: 1.00
Bookmark     

Who conducts the election to the "State Legislative Assemblies" in India?
(A) State High Court 
(B) Election Commission of India (Correct Answer) (Chosen option) 
(C) State Election Commission 
(D) Governor of the State 

Question No.61 Marks: 1.00
Bookmark     

In which year, the Juvenile Justice (Care and Protection of Children) Act was enacted in
India?
(A) 1992 
(B) 2004 (Chosen option) 
(C) 2015 (Correct Answer)
(D) 2017 

Question No.62 Marks: 1.00
Bookmark     

Who among the following was the first Governor General of India?
(A) Lord Dalhousie 
(B) Robert Clive 
(C) Lord Canning 
(D) William Bentinck (Correct Answer) (Chosen option) 

Question No.63 Marks: 1.00
Bookmark     

Which among the following taxes is termed as the 'Destination based Tax'?
(A) Income Tax 
(B) Corporate Tax 
(C) Goods and Services Tax (Correct Answer) (Chosen option) 
(D) Wealth tax 

Question No.64 Marks: 1.00



Bookmark     
Dengue is mainly transmitted by which of the following organisms?
(A) Monkey 
(B) Mosquitoes (Correct Answer) (Chosen option) 
(C) Dogs 
(D) Pangolins 

Question No.65 Marks: 1.00
Bookmark     

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
(A) Apple (Chosen option) 
(B) Mango 
(C) Beetroot (Correct Answer)
(D) Guava 

Question No.66 Marks: 1.00
Bookmark     

Nanda Devi Biosphere Reserve is located in which of the following Indian states?
(A) Uttarakhand (Correct Answer) (Chosen option) 
(B) Punjab 
(C) Himachal Pradesh 
(D) Haryana 

Question No.67 Marks: 1.00
Bookmark     

Diamond is an allotrope of which of the following non-metals?
(A) Hydrogen 
(B) Sodium 
(C) Carbon (Correct Answer) (Chosen option) 
(D) Oxygen 

Question No.68 Marks: 1.00
Bookmark     

ABHYAS - the High-speed Expendable Aerial Target (HEAT) is designed & developed by
which of the following Organisations?
(A) BARC 
(B) CSIR 
(C) ISRO 
(D) DRDO (Correct Answer) (Chosen option) 

Question No.69 Marks: 1.00
Bookmark     

If in the number sequence 1 2 4 5 6 6 6 7 1 3 4 2 , all the odd numbers are increased by
one and all the even numbers are increased by two, then the new number sequence are
arranged in ascending order, which will be the seventh digit from the right?
(A) 2 
(B) 8 
(C) 6 (Correct Answer) (Chosen option) 
(D) 4 
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When was National Girl Child celebrated in India?
(A) 24th April 
(B) 24th November 
(C) 24th January (Correct Answer) (Chosen option) 
(D) 24th July 
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Who has the authority to summon a 'joint sitting' of both houses of the Parliament? 
(A) The President of India (Correct Answer) (Chosen option) 
(B) The Speaker of Lok Sabha 
(C) The Prime Minister of India 
(D) The Vice President of India 
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Which of the following countries has recently launched its first indigenously developed
rocket, known as “Nuri”?
(A) South Korea (Correct Answer)
(B) China 
(C) United Arab Emirates (Chosen option) 
(D) Japan 
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Mukesh stands in the 4th position from the front in a queue and there are 2 persons
between Mukesh and Rakesh. Rakesh stands after Mukesh. If the first person is
removed from the queue then what is the position of Rakesh from the front of the
queue?
(A) 3 
(B) 5 
(C) 6 (Correct Answer) (Chosen option) 
(D) 4 
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Which of the following Articles of the Indian Constitution contains provisions regarding
free legal aid to citizens?
(A) Article 48 A 
(B) Article 51 
(C) Article 44 
(D) Article 39-A (Correct Answer) (Chosen option) 
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A dice is numbered from 1 to 6. Which number is opposite to 5?



(A) 1 
(B) 6 
(C) 4 
(D) 3 (Correct Answer) (Chosen option) 

Question No.76 Marks: 1.00
Bookmark     

Two persons A and B, stand at the same point. A walks 5km East, takes a right turn and
walks 3km and turns left and walks 4km. B walks 2km towards West; turns right and
walks 4km; turns right again and walks 11km. How far is A from B?
(A) 5km 
(B) 7km (Correct Answer) (Chosen option) 
(C) 9km 
(D) 11km 
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Replace the question mark with an option that follows the same logic applied in the first
pair.
Pig : Piglet :: Lion : ??
(A) Cub (Correct Answer) (Chosen option) 
(B) Calf 
(C) Puppy 
(D) Kitten 
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Pointing to a girl, a lady said, "She is the daughter of brother of my sister." How is the
lady related to the girl?
(A) Mother 
(B) Cousin 
(C) Niece 
(D) Aunt (Correct Answer) (Chosen option) 
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Find the next number in the series.
3, 4, 7, 22, 87, ?
(A) 436 (Correct Answer) (Chosen option) 
(B) 437 
(C) 435 
(D) 438 
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The first English East India Company factory in India was established at _________.
(A) Hooghly 
(B) Calcutta 
(C) Surat (Correct Answer) (Chosen option) 
(D) Madras 
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King Kharavela was the follower of which of the following religions?
(A) Vaishanavism 
(B) Jainism (Correct Answer) (Chosen option) 
(C) Saivisim 
(D) Buddhism 
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Which Bhaumakara ruler sent a Buddhist work 'Gandavyuha' as a presentation to the
Chinese emperor Te-tsong through a Buddhist scholar Prajna?
(A) Sivakaradeva I (Correct Answer)
(B) Subhakaradeva II 
(C) Sivakaradeva II (Chosen option) 
(D) Subhakaradeva I 
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In this question, a passage is given followed by a statement. Read the passage
carefully and judge the statement based on the given passage.

The current Australian cricket team has lost three of the last five Test series it has
played. It has lost the last two series it has played, one of them against Pakistan, hardly
a powerhouse of the current game. Australia is enfeebled by the absence of their two
best batsmen, Steve Smith and David Warner, both serving suspensions.

The game itself is at a crossroads in Australia, with feverish introspection and hand
wringing about the manner in which the national team plays the game, the aggression it
displays on the field, the lack of respect it shows rivals, and the way in which it ignores
the means to achieve the sole, coveted end of winning. Australian cricket has seldom
been at such a low ebb. Now is the best time to beat them in their backyard. Put another
way, if India cannot beat Australia in Australia in this series, it will show that the hype
around this team is simply that: hype.

Statement: India has got a good opportunity to knock Australia.

Choose the appropriate one from the following options
A -The statement is definitely true
B -The statement is probably true
C -The statement is cannot be determined
D -The statement is definitely false
(A) D 
(B) C 
(C) A (Correct Answer) (Chosen option) 
(D) B 
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Which of the following latitudes passes through India?
(A) Arctic circle 
(B) Tropic of Capricorn 
(C) Equator 
(D) Tropic of Cancer (Correct Answer) (Chosen option) 
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In which year was the 'Reserve Bank of India' established?
(A) 1950 
(B) 1935 (Correct Answer) (Chosen option) 
(C) 1955 
(D) 1947 
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IBM has launched a cybersecurity hub in which of the following Indian Cities?
(A) Bengaluru (Correct Answer) (Chosen option) 
(B) Chennai 
(C) Pune 
(D) Hyderabad 
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The Bhitarkanika National Park is located in which of the following districts of Odisha?
(A) Bhadrak 
(B) Kendrapara (Correct Answer) (Chosen option) 
(C) Balasore 
(D) Jagatsinghpur 
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Which state hosted the second edition of South Asian Athletics Federation (SAAF) cross
country championships in March 2022?
(A) Goa 
(B) Nagaland (Correct Answer)
(C) Haryana 
(D) Assam 
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Which is the highest Judicial body in India?
(A) The President of India 
(B) The Supreme Court of India (Correct Answer) (Chosen option) 
(C) The British Privy Council 
(D) The High Court 
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Find the odd image out in the given series.



(A) 3 
(B) 4 (Correct Answer) (Chosen option) 
(C) 2 
(D) 1 
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The scientific study of ferns is called ____________.
(A) Eulogy 
(B) Pteridology (Correct Answer) (Chosen option) 
(C) Ichthyology 
(D) Mycology 
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How many squares are there in the given figure?

(A) 18 (Correct Answer) (Chosen option) 
(B) 21 
(C) 20 
(D) 24 
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Which Article of the Indian Constitution directs the State to 'protect and improve the
environment'?
(A) Article 39 
(B) Article 43A 
(C) Article 44 
(D) Article 48A (Correct Answer) (Chosen option) 
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The former 'United Nations Commission on Human Rights' was replaced by the:



(A) United Nations High Commissioner for Refugees 
(B) United Nations Human Rights Council (Correct Answer) (Chosen option) 
(C) International Organization for Migration 
(D) Office of the United Nations High Commissioner for Human Rights 
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In 1992, the NSE was set up based on the recommendations of which of the following
committees?
(A) Aravind Mayaram Committee 
(B) ML Jhingan Committee 
(C) Pherwani Committee (Correct Answer)
(D) YV Reddy Committee 
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Find the next number in the series.
12, 16, 25, 41, 66, ?
(A) 102 (Correct Answer) (Chosen option) 
(B) 92 
(C) 98 
(D) 100 
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The Rengali Dam was constructed on the ___________ river.
(A) Subarnarekha 
(B) Baitarani 
(C) Brahmani (Correct Answer) (Chosen option) 
(D) Budhabalanga 
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In a certain code language:
'eat tasty food' is written as 'jo va nu',
'tasty indian dish' is written as 'ph ki nu',
'eat spicy dish' is written as 'ki va ru'.

What is the code for 'food' in the given code language?
(A) nu 
(B) jo (Correct Answer) (Chosen option) 
(C) ph 
(D) va 
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PARAM PORUL, recently inaugurated at NIT Tiruchirappalli, is an example of __________.
(A) Humanoid 
(B) Drone 
(C) Supercomputer (Correct Answer) (Chosen option) 
(D) Telescope 
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If P = 24, Q = 12, R = 18, S = 9, then P × Q + R ÷ S = ?
(A) 240 
(B) 280 
(C) 290 (Correct Answer) (Chosen option) 
(D) 250 
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